#### **PGDM Trimester IV**

# **End Term Examination September 2014**

#### International Finance & Trade

#### **DM 413**

Time 2.30 hours

MM 50

This is a closed book examination. Use of ordinary calculator is permitted. In case of any doubts please make reasonable assumptions and proceed. Please write your name and roll no on the question paper as soon as you receive the same

## Section A 15 Marks

There are five questions in this section. Attempt any three questions Each question carries five marks.

- 1. Assume that the Japanese Govt relaxes the control on imports by Japanese Companies. Other things being equal, how should it affect US demand for Japanese Yen?
- 2. Assume that the spot rate of the British Pound is \$1.73. The expected rate one year from now is assumed to be \$1.66. What percentage depreciation does this reflect?
- 3. When should a speculator purchase a call option on an Australian dollar?
- 4. How can the central bank use indirect intervention to change the value of a currency?
- 5. Shouldn't the IFE discourage investors from attempting to capitalize on higher foreign interest rates?

### Section B 20 Marks

There are three questions in this section. Attempt any two questions Each question carries ten marks

1) Jim Logan, owner of the sports export company is concerned about the value of the British Pound over time because his firm receives the pound as payment for footballs exported to the United Kingdom. He recently read that Bank of England (the central bank of the United Kingdom) is likely to intervene directly in the foreign exchange market by flooding the market with British Pounds.

Forecast whether the British Pound will weaken or strengthen based on the information provided.

How would the performance of sports export company be affected by the Bank of England's policy of flooding the foreign exchange market with British Pound (assuming that it does not hedge its exchange rate risk)

- 2)The one year risk free rate in Mexico is 10% and one year risk free rate in United States Is 2%. Assume that the interest parity exists . The spot rate of Mexican Peso is 0.076 US Dollar.
- What is the forward premium
- What is 1 year forward rate?
- Based on the International Fishers Effect, what is the expected change in the spot rate over next year
- If the spot rate changes as expected according to IFE what will be the spot rate in one year.
- 3) The following transactions (expressed in U.S. \$ billions) take place during a year. Calculate the U.S. merchandise-trade, current-account, capital-account, and financial-account balances.
- a. The United States exports \$300 of goods and receives payment in the form of foreign demand deposits abroad.
- b. The United States imports \$225 of goods and pays for them by drawing down its foreign demand deposits.
- c. The United States pays \$15 to foreigners in dividends drawn on U.S. demand deposits here.
- d. American tourists spend \$30 overseas using traveler's checks drawn on U.S. banks here.
- e. Americans buy foreign stocks with \$60, using foreign demand deposits held abroad.
- f. The U.S. government sells \$45 in gold for foreign demand deposits abroad.
- g. In a currency support operation, the U.S. government uses its foreign demand deposits to purchase \$8 from private foreigners in the United States.

# Section C 15 marks (Compulsory)

Merck Inc. is a pharmaceutical company. It is not currently exporting its products to India. However, it is proposing to establish manufacturing facility in India in the near future.

The Company to be set up in India is to be a wholly owned affiliate of Merck Inc. which will provide all funds needed to build the manufacturing facility. Total initial investment is estimated at Rs. 50, 000,000. Working capital requirement, estimated at Rs. 5,000,000, would be provided by a local financial institution at 8 per cent per annum, repayable in five equal instalments beginning on December 31 of the first year of operation. It the absence of this concessional facility, Merck would have financed these requirements by a loan from its bankers in the United States at 15 per cent per annum.

The cost of the entire manufacturing facility is to be depreciated over five years on a straight-line basis. At the end of the fifth year of operation, all remaining assets would be taken over by a public corporation to be designated by the Government of India with no compensation.

Sales, Prices and Exchange Rate Data

Sales, price and exchange rate projections are presented in Table below:

- Variable costs are Rs. 600 per unit in year 1 and are expected to rise by 15 per cent each year.
- Fixed costs (other than depreciation) are Rs. 20 million in year 1 and are expected to rise by 10 per cent per year.

Year	Sales in Units	Unit Price	Exchange Rate
1	2,00,000	Rs. 1,000	Spot rate Rs. 42.20/\$
2	2,25,000	Rs. 1,500	42.50/\$
3	2,50,000	Rs. 1,800	42.60/\$
4	2,75,000	Rs. 2,000	42.80/\$
5	3,00,000	Rs. 2,200	43.50/\$

# Other Information

- All profits after tax realized by the affiliate are transferable to the parent at the end of each
  year. Depreciation funds are to be blocked until the end of year 5. These funds may be
  invested in local money market instruments, yielding to a tax-free 15 per cent per annum.
  When the operating assents are turned over a local corporation, the balance of these funds
  including interest, may be repatriated.
- The income tax rate in India is 48% but there are no withholding taxes on transfer of dividends. Dividends received by Merck Inc. in the United States would be subject to a 50% per cent tax with credit allowed for taxes paid on affiliate" income abroad.
- Merck Inc. used a 14 per cent weighted average cost of capital for evaluating domestic projects similar to the ones planned in India. For foreign projects in developing countries a 6 per cent political risk premium is added.

Based on the above information, what is your advice to Merck Inc?

		20%	0.833	0.094	6/00	0.482	0.402	0.220	0 233	0.194	0.162	35	12	0.093	178	965	0.054	145	38	131	0.026	110	0.004	0.002	101	000
		1															1					100				
		19%	0.840	0.700	0.093	0.499	0.418	0.00	0 24	0.209	0.17	0.148	0 12	0.10	0.08	0.07	0.062	0.052	0.04	0.037	0.03	0.01	0.005	0.002	0.00	000
	100	18%	0.047	0.7.10	0.003	0.010	0.437	0.314	0.266	0.225	0.191	0.162	0.137	0.116	0.099	0.084	0.071	0.060	0.051	0.043	0.037	0.016	0.007	0.003	0.001	0000
	100	0000	0.000	0.73	0.024	0.034	0 300	0.333	0.285	0.243	0.208	0.178	0.152	0.130	0.111	0.095	0.081	0.069	0.059	0.051	0.043	0.020	0.009	0.004	0.002	0000
	1000	0 000	0.002	0.743	0.071	20.0	0.410	0.354	0.305	0.263	0.227	0.195	0.168	0.145	0.125	0.108	0.093	0.080	690.0	0.060	0.051	0.024	0.012	900.0	0.003	0 001
2	150/	0,670	0.00	0.7.30	0.000	0.00	0 432	0.376	0.327	0.284	0.247	0.215	0.187	0.163	0.141	0.123	0.107	0.093	0.081	0.070	0.061	0.030	0.015	0.008	0.004	0.001
IF(i.r	140/	0.470	0.00	0.675	0.500	0.532	0.456	0.400	0.351	0.308	0.270	0.237	0.208	0.182	0.160	0.140	0.123	0.108	0.095	0.083	0.073	0.038	0.020	0.010	0.005	0.001
PV.	120/	0 885	0.200	0 693	0.613	0.543				0.333							0.141							0.014	0.008	0.002
period at i% for n periods. PVIF(i.n)	100/	0.893	797 0	0.712	0.636	0.567	0.507	0.452	0.404	0.361	0.322			0.229								0.059		0.019		0.003
n pe	110%	0.901	0.812	0.731	0.659	0.593		0.482		0.391				0.258			0.188					0.074	0.044	0.026	0.015	0.005
% for	10%	606.0	826	1.751	0.683	0.621	-	0.513		-	_		-	0.290	-	-	0.218						0.057	036	.022	600
at i	%6				0.708	TQ.					0.422	0.388		0.326			0.252 0				.178 0				0.032 0	.013 0
riod	8%	0	_		_	0	0													0	0			0	0	0
	1	0							0.54	0.500		0.429	0.39	0.368		0.315	0.292	0.27	0.25	0.23	0.215	0.146	0.099	0.068	0.046	0.021
per	7%	0.935	0.873	0.816	0.763	0.713	0.666	0.623	0.582	0.544	0.508	0.475	0.444	0.415	0.388	0.362	0.339	0.317	0.296	0.277	0.258	0.184	0.131	0.094	0.067	0.034
of \$1	%9	0.943	0.890	0.840	0.792	0.747	0.705	0.665	0.627	0.592	0.558	0.527	0.497	0.469	0.442	0.417	0.394	0.371	0.350	0.331	0.312	0.233	0.174	0.130	0.097	0.054
ctor	2%	0.952	0.907	0.864	0.823	0.784	0.746	0.711	0.677	0.645	0.614	0.585	0.557	0.530	0.505	0.481	0.458	0.436	0.416	0.396	0.377	0.295	0.231	0.181	0.142	0.087
est fa	4%	0.962	0.925	0.889	0.855	0.822	0.790	0.760	0.731	0.703	0.676	0.650	0.625	0.601	0.577	0.555	0.534	0.513	0.494	0.475	0.456	0.375	0.308	0.253	0.208	0.141
resent value interest factor of \$1	3%	0.971	0.943	0.915	0.888	0.863	0.837	0.813	0.789	0.766	0.744	0.722		0.681					0.587		0.554	0.478	0.412	0.355	0.307	0.228
alue i	2%	0.980	0.961	0.942	0.924	906.0				0.837				0.773					0.700			_				0.372
int va	1%	0.990	0.980	0.971	0.961	0.951						0.896			_											9.608
rese	eriod	-	7	n	4	2	9		ω (	0 (	2		12	-		+	16	7.	2 (		+	25 (	30	32 (	40	20 (
_ '	m) i										1					1					1					1

Period		2% 3	3%	4%	2%	(O) IIE	ulliar)		annuity c	ot \$1	per p	Der period		at i% for	n pe	n periods,		PVIFA(i,n)	(n,	20%
0					0.952	0.943	0.935	0.926	0.917	0.909	0.901	0.893	0.885	0.877	0.870	0.862	0 855	0.847	0,870	20%
- 1					1.859	1.833	1.808	1.783	1.759	1.736	1.713	1.690	1.668	1.647	1.626	1.605	1.585	1.566	1.547	1 528
	2.002 2.884				2.723	2.673	2.624	2.577	2.531	2.487	2.444	2.402	2.361	2.322	2.283	2.246	2.210	2.174	2.140	2.106
	3.902 3.808	42 4 590			3.546	3.465	3.387	3.312	3.240	3.170	3.102	3.037	2.974		2.855	2.798	2.743	2.690	2.639	2.589
- 1 -					4.329	4.212	4.100	3.993	3.890	3.791	3.696	3.605	3.517	3.433	3.352	3.274	3.199	3.127	3.058	2.991
-	6 728 6 472	77 8 220			5.070	4.91/	4.767	4.623	4.486	4.355	4.231	4.111	3.998	3.889	3.784	3.685	3.589	3.498	3.410	3.326
				0.002	0.780	5.582	5.389	5.206	5.033	4.868	4.712	4.564	4.423		4.160	4.039	3.922	3.812	3.706	3.605
~					0.402	0.2.0	5.9/1	5.747	5.535	5.335	5.146	4.968	4.799		4.487	4.344	4.207	4.078	3.954	3.837
_					1 100	20802	0.515	6.24/	5.995	5.759	5.537	5.328	5.132		4.772	4.607	4.451	4.303	4.163	4.031
1			1		771.1	7.360	7.024	6.710	6.418	6.145	5.889	5.650	5.426	5.216	5.019	4.833	4.659	4.494	4.339	4.192
- +					8.306	7.887	7.499	7.139	6.805	6.495	6.207	5.938	5.687	5.453	5.234	5.029	4.836	4.656	4.486	4 327
- ;					8.863	8.384	7.943	7.536	7.161	6.814	6.492	6.194	5.918		5.421	5.197		4.793	4.611	4 439
- ;					9.394	8.853	8.358	7.904	7.487	7.103	6.750	6.424	6.122	5.842	5.583	5.342		4.910		4 533
- ;					9.899	9.295	8.745	8.244	7.786	7.367	6.982	6.628	6.302		5.724	5.468				4 611
-1.					10.380	9.712	9.108	8.559	8.061	7.606	7.191	6.811	6.462		5.847	5.575	5.324		4.876	4 675
- ;					10.838	10.106	9.447	8.851	8.313	7.824	7.379	6.974	6.604		5.954	5.668			1	4 730
'					11.274	10.477	9.763	9.122	8.544	8.022	7.549	7.120						5 222		4 775
= ;					11.690	10.828	10.059	9.372	8.756	8.201	7.702	7.250	6.840					5.273		4.812
- ;					12.085	11.158	10.336	9.604	8.950	8.365	7.839	7.366	6.938		6.198			5.316		4 843
-1					12.462	11.470	10.594	9.818	9.129	8.514	7.963	7.469			6.259					4 870
N	,				14.094	12.783	11.654	10.675	9.823	9.077	8.422	7.843	7.330	6.873	6.464	6.097				4 948
N					15.372	13.765	12.409	11.258	10.274	9.427	8.694	8.055	7.496	7.003						4 979
ĭ,					16.374	14.498	12.948	11.655	10.567	9.644	8.855	8.176	7.586		-	6.215				4 992
ň			15 19.793		17.159	15.046	13.332	11.925	10.757	9.779	8.951	8.244	7.634							4 997
3	39.196 31.424	24 25.730	30 21 482		19 256	15 762	10001	40000	0000	1			-		_				001	00: